

## The real exponential integrals

Notes by G.J.O. Jameson

The functions  $E(x)$  and  $E^*(x)$

Define, for suitable  $x$ ,

$$E(x) = \int_x^\infty \frac{e^{-t}}{t} dt, \quad E^*(x) = \int_0^x \frac{1 - e^{-t}}{t} dt. \quad (1)$$

$E(x)$ , as well as various mutations and equivalent forms, is known as the “incomplete exponential integral”. It is the special case  $\Gamma(0, x)$  of the “incomplete gamma function”, defined by  $\Gamma(a, x) = \int_x^\infty t^{a-1} e^{-t} dt$  (e.g. see [Jam3]). Notation sometimes used in specialist literature is  $E_1(x)$  for our  $E(x)$  and  $\text{Ein}(x)$  for  $E^*(x)$ .

Clearly,  $E(x)$  is defined for all  $x > 0$ , but not for  $x = 0$ , since  $\int_0^1 e^{-t}/t dt$  is divergent. Since the integrand is positive,  $E(x)$  is non-negative and decreasing. By the fundamental theorem of calculus,  $E'(x) = -e^{-x}/x$ . A simple inequality for  $E(x)$  is

$$E(x) \leq \frac{1}{x} \int_x^\infty e^{-t} dt = \frac{e^{-x}}{x}. \quad (2)$$

In particular,  $E(x)$ , and even  $e^x E(x)$ , tends to 0 as  $x \rightarrow \infty$ .

There is no problem about convergence of  $E^*(x)$  at 0. In fact,  $0 < 1 - e^{-t} \leq t$  for  $t > 0$ , so  $0 < (1 - e^{-t})/t < 1$ , and hence  $0 < E^*(x) \leq x$  for  $x > 0$ . In particular,  $E^*(x) \rightarrow 0$  as  $x \rightarrow 0^+$ . A better inequality for  $x > 1$  is

$$E^*(x) < E^*(1) + \int_1^x \frac{1}{t} dt < \log x + 1. \quad (3)$$

Also,  $E^*(x)$  is increasing and  $(E^*)'(x) = (1 - e^{-x})/x$ .

By integrating the series

$$\frac{1 - e^{-t}}{t} = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{t^{n-1}}{n!},$$

we obtain a power series expression for  $E^*(x)$ :

$$E^*(x) = \sum_{n=1}^{\infty} (-1)^{n-1} \frac{x^n}{n!n} = x - \frac{x^2}{2!2} + \frac{x^3}{3!3} - \cdots, \quad (4)$$

from which, in principle, values can be calculated (though in practice the calculation is only pleasant for fairly small  $x$ ). For example, eight terms are enough to give  $E^*(1) \approx 0.79660$  to five decimal places.

We mention some equivalent forms given by substitutions. For  $a > 0$ , the substitution  $at = u$  gives

$$\int_x^\infty \frac{e^{-at}}{t} dt = \int_{ax}^\infty \frac{e^{-u}}{u} du = E(ax), \quad (5)$$

$$\int_0^x \frac{1 - e^{-at}}{t} dt = \int_0^{ax} \frac{1 - e^{-u}}{u} du = E^*(ax), \quad (6)$$

In particular, taking  $x = 1$ , we obtain

$$E(a) = \int_1^\infty \frac{e^{-at}}{t} dt, \quad E^*(a) = \int_0^1 \frac{1 - e^{-at}}{t} dt. \quad (7)$$

The substitution  $t = x + u$  in (1) gives

$$E(x) = e^{-x} \int_0^\infty \frac{e^{-u}}{x + u} du. \quad (8)$$

This expression can be used to define  $E(z)$  for any complex  $z$  not on the negative real line. As a contour integral, it equates to the integral of  $e^{-\zeta}/\zeta$  on the horizontal half-line defined by  $\zeta = z + u$  for  $u \geq 0$ . Not very helpfully, the notation  $\text{Ei}(z)$  is sometimes used for  $-E(-z)$ . We will not discuss the complex function  $E(z)$  in these notes.

Substituting  $e^{-u} = v$  in (8), we obtain

$$E(x) = e^{-x} \int_0^1 \frac{1}{x - \log v} dv. \quad (9)$$

The numbers  $E(1)$  and  $E^*(1)$  have particular significance. Integration by parts gives

$$E(1) = \left[ e^{-t} \log t \right]_1^\infty + \int_1^\infty e^{-t} \log t dt = \int_1^\infty e^{-t} \log t dt. \quad (10)$$

Since  $(1 - e^{-t}) \log t \rightarrow 0$  as  $t \rightarrow 0^+$ , we have similarly

$$E^*(1) = \left[ (1 - e^{-t}) \log t \right]_0^1 - \int_0^1 e^{-t} \log t dt = - \int_0^1 e^{-t} \log t dt. \quad (11)$$

To relate  $E^*(x)$  and  $E(x)$ , observe that

$$E^*(x) - E^*(1) = \int_1^x \frac{1 - e^{-t}}{t} dt = \log x - \int_1^x \frac{e^{-t}}{t} dt = \log x - E(1) + E(x),$$

so

$$E(x) = E^*(x) - \log x + c, \quad (12)$$

where  $c$  is constant, in fact  $c = E(1) - E^*(1)$ . Furthermore, we have two ways to express  $c$  as a limit. Since  $\lim_{x \rightarrow 0^+} E^*(x) = 0$ , we have

$$c = \lim_{x \rightarrow 0^+} [E(x) + \log x] \quad (13)$$

and since  $\lim_{x \rightarrow \infty} E(x) = 0$ , we have

$$-c = \lim_{x \rightarrow \infty} [E^*(x) - \log x]. \quad (14)$$

Also, by (10) and (11), we have

$$c = \int_0^\infty e^{-t} \log t \, dt. \quad (15)$$

This is known as the (complete) exponential integral (as already noted,  $e^{-t}/t$  does not give a convergent integral on  $(0, \infty)$ ). Readers familiar with the gamma function will recognise that it equates to  $\Gamma'(1)$ .

The evaluation of  $c$  will be our main theorem, and we turn to it shortly. But there are some facts that can be deduced without knowing the value of  $c$ . Firstly,  $E(x) \sim -\log x$  as  $x \rightarrow 0^+$ , hence  $x E(x) \rightarrow 0$  as  $x \rightarrow 0^+$ . Another deduction is the following integral:

PROPOSITION 1. For  $a, b > 0$ ,

$$\int_0^\infty \frac{e^{-at} - e^{-bt}}{t} \, dt = \log b - \log a. \quad (16)$$

*Proof.* By (6) and (12),

$$\begin{aligned} \int_0^x \frac{e^{-at} - e^{-bt}}{t} \, dt &= E^*(bx) - E^*(ax) \\ &= E(bx) - E(ax) + \log bx - \log ax \\ &= E(bx) - E(ax) + \log b - \log a \\ &\rightarrow \log b - \log a \quad \text{as } x \rightarrow \infty. \quad \square \end{aligned}$$

A well-known alternative proof of (16) is by expressing the integrand as  $\int_a^b e^{-ty} \, dy$  and reversing the double integral. It is also a special case of the ‘‘Frullani integral’’ (see [Fer, p. 133–135]).

*Determination of  $c$ ; the complete exponential integral*

We will use (14) to evaluate  $c$ .

LEMMA 1. For  $0 \leq t \leq n$ ,

$$\left(1 - \frac{t^2}{n}\right) e^{-t} \leq \left(1 - \frac{t}{n}\right)^n \leq e^{-t}. \quad (17)$$

*Proof.* From the series for  $e^x$  and  $1/(1-x)$ , we have  $1+x \leq e^x \leq 1/(1-x)$ , and hence  $(1-x^2)e^{-x} \leq 1-x \leq e^{-x}$  for  $0 < x < 1$ . Substitute  $x = t/n$  and take the  $n$ th power

to obtain

$$\left(1 - \frac{t^2}{n^2}\right)^n e^{-t} \leq \left(1 - \frac{t}{n}\right)^n \leq e^{-t}.$$

for  $0 \leq t \leq n$ . Now  $(1 - a)^n \geq 1 - na$  for  $0 \leq a \leq 1$ , so (17) follows.  $\square$

**THEOREM 2.** *We have  $c = -\gamma$ , where  $\gamma$  is Euler's constant. Hence*

$$\int_0^\infty e^{-t} \log t \, dt = -\gamma, \quad (18)$$

$$E^*(x) = E(x) + \log x + \gamma. \quad (19)$$

*Proof.* By (14), it is enough to show that  $E^*(n) - \log n \rightarrow \gamma$  as  $n \rightarrow \infty$ . Since  $e^{-t} = \lim_{n \rightarrow \infty} (1 - \frac{t}{n})^n$ , it seems at least plausible that  $E^*(n)$  is approximated by  $K_n$ , where

$$\begin{aligned} K_n &= \int_0^n \frac{1}{t} \left[ 1 - \left(1 - \frac{t}{n}\right)^n \right] dt \\ &= \int_0^1 \frac{1}{u} [1 - (1 - u)^n] du \\ &= \int_0^1 \frac{1 - v^n}{1 - v} dv \\ &= \int_0^1 (1 + v + \cdots + v^{n-1}) dv \\ &= 1 + \frac{1}{2} + \cdots + \frac{1}{n}, \end{aligned}$$

so that  $K_n - \log n \rightarrow \gamma$  as  $n \rightarrow \infty$ .

To make this precise, we have by (17)

$$1 - e^{-t} \leq 1 - \left(1 - \frac{t}{n}\right)^n \leq 1 - e^{-t} + \frac{1}{n} t^2 e^{-t}.$$

It follows that  $E^*(n) \leq K_n \leq E^*(n) + \Delta_n$ , where

$$\Delta_n = \frac{1}{n} \int_0^n t e^{-t} dt < \frac{1}{n}. \quad \square$$

**COROLLARY 2.1.** *For all  $x > 0$ ,*

$$-\log x - \gamma < E(x) < -\log x - \gamma + x, \quad (20)$$

$$\log x + \gamma < E^*(x) < \log x + \gamma + \frac{e^{-x}}{x}. \quad \square \quad (21)$$

Of course, (20) is effective for small  $x$ , and (21) for large  $x$ .

Also, we can deduce particular values of  $E(x)$ , for example  $E(1) = E^*(1) - \gamma \approx 0.21938$ .

The integral (18), together with most of the equivalent versions described below, was discovered by Euler. The proof given here follows [WW, p. 242]. A slight variant is given in [Lo]. We now record some integrals derived from it, or equivalent to it.

First, the substitution  $at = u$  (where  $a > 0$ ) gives

$$\int_0^\infty e^{-at} \log t \, dt = \int_0^\infty e^{-u} (\log u - \log a) \frac{1}{a} \, du = -\frac{1}{a}(\gamma + \log a), \quad (22)$$

which we can rewrite rather pleasantly as  $\int_0^\infty e^{-at} (\log t + \gamma) \, dt = -\frac{1}{a} \log a$ .

Next, substituting in turn  $e^{-t} = u$  and  $e^t = u$ , we obtain

$$\int_0^1 \log(-\log u) \, du = \int_1^\infty \frac{\log \log u}{u^2} \, du = -\gamma. \quad (23)$$

PROPOSITION 3. *We have*

$$\int_0^\infty t e^{-t} \log t \, dt = 1 - \gamma \quad (24)$$

(Remark: this integral equates to  $\Gamma'(2)$ .)

*Proof.* Denote the integral by  $I$ . Expressing the integrand as  $e^{-t}(t \log t)$  and integrating by parts, we obtain

$$I = \left[ -e^{-t}(t \log t) \right]_0^\infty + \int_0^\infty e^{-t} (\log t + 1) \, dt = 0 - \gamma + 1. \quad \square$$

In a similar way, one can prove by induction that

$$\int_0^\infty t^n e^{-t} \log t \, dt = n!(H_n - \gamma),$$

where  $H_n = \sum_{r=1}^n \frac{1}{r}$ . (Hence  $\psi(n+1) = H_n - \gamma$ , where  $\psi(x) = \Gamma'(x)/\Gamma(x)$ .)

We now derive some further integral expressions for  $\gamma$ . Now that we know that  $c = -\gamma$ , we can apply (14) again to obtain at once:

PROPOSITION 4. *We have*

$$\gamma = \int_0^\infty \frac{1}{t} \left( \frac{1}{t+1} - e^{-t} \right) dt. \quad (25)$$

*Proof.* By (14),

$$\begin{aligned} \gamma = \lim_{x \rightarrow \infty} [E^*(x) - \log(x+1)] &= \lim_{x \rightarrow \infty} \int_0^x \left( \frac{1 - e^{-t}}{t} - \frac{1}{t+1} \right) dt \\ &= \int_0^\infty \left( \frac{1}{t(t+1)} - \frac{e^{-t}}{t} \right) dt. \quad \square \end{aligned}$$

Alternatively, (25) can be derived from (18) by using (16) to substitute for  $\log x$  and reversing the resulting double integral.

PROPOSITION 5. *We have*

$$\gamma = \int_0^\infty \left( \frac{1}{e^t - 1} - \frac{e^{-t}}{t} \right) dt. \quad (26)$$

*Proof.* This will follow from (25) if we prove that

$$\int_0^\infty \left( \frac{1}{t(t+1)} - \frac{1}{e^t - 1} \right) dt = 0.$$

For  $\delta > 0$ , denote by  $I_\delta$  this integral reduced to the interval  $[\delta, \infty)$ . Noting that  $1/(e^t - 1) = e^{-t}/(1 - e^{-t})$ , we have

$$I_\delta = \log(1 + \delta) - \log \delta + \log(1 - e^{-\delta}).$$

Now  $\frac{1}{\delta}(1 - e^{-\delta}) \rightarrow 1$  as  $\delta \rightarrow 0^+$ , hence  $I = \lim_{\delta \rightarrow 0^+} I_\delta = 0$ .  $\square$

Alternatively, one can prove (26) directly and derive (18) [BM, Proposition 9.3.3]. The substitution  $e^{-t} = x$  in (26) gives:

COROLLARY 5.1. *We have*

$$\gamma = \int_0^1 \left( \frac{1}{1-x} + \frac{1}{\log x} \right) dx. \quad \square \quad (27)$$

(25) and (26) are the cases  $x = 1$  in the two standard integral expressions for  $\psi(x) = \Gamma'(x)/\Gamma(x)$  [AAR, p. 26].

PROPOSITION 6. [Sco] *We have*

$$\gamma = 2 \int_0^\infty \frac{1}{t} (e^{-t^2} - e^{-t}) dt. \quad (28)$$

*Proof.* Recall that  $\gamma = E^*(1) - E(1)$ . Substituting  $t = u^2$ , we have

$$E(1) = \int_1^\infty \frac{e^{-t}}{t} dt = 2 \int_1^\infty \frac{e^{-u^2}}{u} du,$$

hence

$$E(1) = 2E(1) - E(1) = 2 \int_1^\infty \frac{1}{t} (e^{-t} - e^{-t^2}) dt.$$

Similarly,

$$E^*(1) = \int_0^1 \frac{1 - e^{-t}}{t} dt = 2 \int_0^1 \frac{1 - e^{-u^2}}{u} du,$$

so

$$E^*(1) = 2E^*(1) - E^*(1) = 2 \int_0^1 \frac{1}{t}(e^{-t^2} - e^{-t}) dt.$$

Statement (28) follows.  $\square$

*Calculation of  $\gamma$ .* The identity  $\gamma = E^*(x) - E(x) - \log x$  has been used for the calculation of  $\gamma$  to great degrees of accuracy. For a suitably chosen  $x$ , one can calculate  $E^*(x)$  and  $\log x$ , and estimate  $E(x)$  by its asymptotic expansion (which we discuss next), or simply choose  $x$  so that  $E(x)$  is suitably small. For a survey of this topic, see [GS], [Lag] or [BM, chap. 9].

### *Asymptotic expression for $E(x)$*

The inequality (2) is enough for many purposes, but there is an asymptotic expression giving a better estimation for large  $x$ , if wanted. It is helpful to describe the process more generally, as follows. Suppose that  $f(t)$  and all its derivatives tend to 0 as  $t \rightarrow \infty$ , and write  $I_f(x) = \int_x^\infty e^{-t} f(t) dt$ . Integrating by parts, we have

$$I_f(x) = \left[ -e^{-t} f(t) \right]_x^\infty + \int_x^\infty e^{-t} f'(t) dt = e^{-x} f(x) + I_{f'}(x).$$

Applying this to  $f'(t)$  and substituting, and repeating the process, we obtain for all  $k \geq 1$

$$I_f(x) = e^{-x} [f(x) + f'(x) + \cdots + f^{(k-1)}(x)] + I_{f^{(k)}}(x).$$

If also  $(-1)^k f^{(k)}(t)$  is non-negative and decreasing, then  $0 \leq (-1)^k I_{f^{(k)}}(x) \leq (-1)^k e^{-x} f^{(k)}(x)$ .

For  $E(x)$ , we apply this with  $f(x) = 1/x$ . The conditions are satisfied, so we obtain

$$E(x) = e^{-x} \left( \frac{1}{x} - \frac{1}{x^2} + \frac{2}{x^3} - \cdots + (-1)^{k-1} \frac{(k-1)!}{x^k} + (-1)^k r_k(x) \right), \quad (29)$$

where

$$0 \leq r_k(x) \leq \frac{k!}{x^{k+1}}.$$

For large  $x$ , we can derive a fairly accurate estimation of  $E(x)$  by choosing a suitable number of terms. For example  $E(10) = \rho e^{-10}$ , where  $0.0915 < \rho < 0.0917$ . However, what this generates is an *asymptotic expression*, not a convergent series, because for any particular  $x$ , the successive derivatives ultimately grow large.

### *Some integrals involving $E(x)$*

We record some integrals involving  $E(x)$ . None of them require the fact that  $c = -\gamma$ . For the first one, recall that  $\int_0^\infty t^{a-1} e^{-t} dt$  defines  $\Gamma(a)$  for  $a > 0$ . We compare two methods.

PROPOSITION 7. For  $a > 0$ ,

$$\int_0^\infty x^{a-1} E(x) dx = \frac{\Gamma(a)}{a}. \quad (30)$$

In particular,

$$\int_0^\infty E(x) dx = 1. \quad (31)$$

*Proof 1.* Reversing the double integral, we obtain

$$\begin{aligned} \int_0^\infty x^{a-1} E(x) dx &= \int_0^\infty x^{a-1} \int_x^\infty \frac{e^{-t}}{t} dt dx \\ &= \int_0^\infty \frac{e^{-t}}{t} \int_0^t x^{a-1} dx dt \\ &= \frac{1}{a} \int_0^\infty t^{a-1} e^{-t} dt \\ &= \frac{\Gamma(a)}{a}. \end{aligned}$$

*Proof 2.* Integrate by parts:

$$\int_0^\infty x^{a-1} E(x) dx = \left[ \frac{x^a}{a} E(x) \right]_0^\infty + \int_0^\infty \frac{x^a}{a} \frac{e^{-x}}{x} dx.$$

Now  $x^a E(x) \rightarrow 0$  as  $x \rightarrow \infty$ . Also, since  $E(x) \sim -\log x$  for  $x$  close to 0,  $x^a E(x) \rightarrow 0$  as  $x \rightarrow 0$ . So the integral equates to  $\frac{1}{a} \int_0^\infty x^{a-1} e^{-x} dx = \Gamma(a)/a$ .  $\square$

So for positive integers  $n$ ,  $\int_0^\infty x^n E(x) dx = n!/(n+1)$ .

PROPOSITION 8. For  $a > 0$ ,

$$\int_0^\infty e^{-ax} E(x) dx = \frac{1}{a} \log(a+1). \quad (32)$$

*Proof.* The integral is

$$\int_0^\infty e^{-ax} \int_x^\infty \frac{e^{-t}}{t} dt dx = \int_0^\infty \frac{e^{-t}}{t} \int_0^t e^{-ax} dx dt = \int_0^\infty \frac{e^{-t}(1 - e^{-at})}{at} dt.$$

The stated value now follows, by (16).  $\square$

PROPOSITION 9. We have

$$\int_0^\infty E(x)^2 dx = 2 \log 2. \quad (33)$$



*Proof.* Integrate by parts:

$$\begin{aligned} \int_0^\infty 1 \cdot E(x)^2 dx &= \left[ xE(x)^2 \right]_0^\infty + 2 \int_0^\infty xE(x) \frac{e^{-x}}{x} dx \\ &= 2 \int_0^\infty e^{-x} E(x) dx \\ &= 2 \log 2, \end{aligned}$$

in which we used (32) and the fact that  $\lim_{x \rightarrow 0^+} [xE(x)^2] = 0$ .  $\square$

To prove (33) by the double-integral method, one would start by expressing  $E(x)^2$  as an integral:

$$E(x)^2 = - \int_x^\infty 2E(t)E'(t) dt = 2 \int_x^\infty E(t) \frac{e^{-t}}{t} dt.$$

*Application to the cosine integral*

Consider the integrals corresponding to (1) with  $e^{-t}$  replaced by  $\cos t$ :

$$C(x) = \int_x^\infty \frac{\cos t}{t} dt, \quad C^*(x) = \int_0^x \frac{1 - \cos t}{t} dt. \quad (34)$$

Convergence of the integral defining  $C(x)$ , together with the fact that  $\lim_{x \rightarrow \infty} C(x) = 0$ , is easily established by integration by parts. We also define (following standard notation)

$$\text{Si}(x) = \int_0^x \frac{\sin t}{t} dt.$$

We will use a contour integral to relate  $C^*(x)$  and  $E^*(x)$ , enabling us derive a result analogous to Theorem 2 for  $C(x)$ .

Exactly as for  $E(x)$ , we have

$$C(x) = C^*(x) - \log x + c', \quad (35)$$

where  $c' = C(1) - C^*(1)$ . By (12) and (35),

$$C(x) - E(x) = C^*(x) - E^*(x) + c' - c. \quad (36)$$

We will prove:

**THEOREM 10.** *We have  $C^*(x) - E^*(x) \rightarrow 0$  as  $x \rightarrow \infty$ , hence  $c' = -\gamma$  and*

$$C(x) = C^*(x) - \log x - \gamma, \quad (37)$$

$$\int_0^\infty \frac{\cos t - e^{-t}}{t} dt = 0. \quad (38)$$

Once we have shown that  $C^*(x) - E^*(x) \rightarrow 0$  as  $x \rightarrow \infty$ , it follows from (36) that  $c' = c$ , so  $c' = -\gamma$ , hence (37). Also, it follows that  $C(x) - E(x) \rightarrow 0$  as  $x \rightarrow 0^+$ , hence (38) (for this, we do not need to know that  $c = -\gamma$ ).

LEMMA 2. *We have*

$$0 \leq \int_0^{\pi/2} e^{-R \sin \theta} d\theta \leq \frac{\pi}{2R}.$$

*Proof.* Since the function  $\sin \theta$  is concave on  $[0, \frac{\pi}{2}]$ , we have  $\sin \theta \geq \frac{2\theta}{\pi}$  on  $[0, \frac{\pi}{2}]$ . Hence

$$\int_0^{\pi/2} e^{-R \sin \theta} d\theta \leq \int_0^{\pi/2} e^{-2R\theta/\pi} d\theta = \left[ -\frac{\pi}{2R} e^{-2R\theta/\pi} \right]_0^{\pi/2} = \frac{\pi}{2R} (1 - e^{-R}). \quad \square$$

*Proof of Theorem 10.* Let  $C_R$  be the circular arc of radius  $R$  in the positive quadrant, represented by  $z = Re^{i\theta}$  for  $0 \leq \theta \leq \frac{\pi}{2}$ . Denote by  $\Gamma$  the closed contour consisting of  $C_R$  together with the real interval  $[0, R]$ , and the imaginary axis from  $iR$  to  $0$ . Let

$$f(z) = \frac{1 - e^{iz}}{z}.$$

Then  $f$  has no pole at  $0$ , since  $f(z) = -i + \frac{1}{2}z + \dots$ . By Cauchy's integral theorem,  $\int_{\Gamma} f(z) dz = 0$ . The contribution of the real axis is

$$\int_0^R \frac{1 - e^{it}}{t} dt = C^*(R) - i \operatorname{Si}(R).$$

The contribution of the imaginary axis, taken towards the origin, is

$$- \int_0^R \frac{1 - e^{-t}}{t} dt = -E^*(R).$$

Now consider  $C_R$ . The contribution of the term  $\frac{1}{z}$  is  $\frac{\pi}{2}i$ . The contribution of the other term is

$$I_R =: \int_{C_R} \frac{e^{iz}}{z} dz = \int_0^{\pi/2} i e^{iRe^{i\theta}} d\theta.$$

Now  $|e^{iRe^{i\theta}}| = e^{-R \sin \theta}$ , so by Lemma 2,  $|I_R| \leq \pi/(2R)$ .

Now considering the real part, we deduce

$$|C^*(R) - E^*(R)| \leq \frac{\pi}{2R},$$

so  $C^*(R) - E^*(R) \rightarrow 0$  as  $R \rightarrow \infty$ .  $\square$

At the same time, we deduce from the imaginary part that  $|\operatorname{Si}(R) - \frac{\pi}{2}| \leq \frac{\pi}{2R}$ , thereby proving the ‘‘sine integral’’

$$\int_0^{\infty} \frac{\sin t}{t} dt = \frac{\pi}{2}.$$

An alternative proof of Theorem 10 by double integrals is given in [Jam2]. A direct proof of (37) can be seen in [Jam1].

## References

- [AAR] George E. Andrews, Richard Askey and Ranjan Roy, *Special Functions*, Cambridge Univ. Press (1999).
- [BM] George Boros and Victor H. Moll, *Irresistible Integrals*, Cambridge Univ. Press (2004).
- [Fer] W. L. Ferrar, *Integral Calculus*, Oxford Univ. Press (1958).
- [GS] Xavier Gourdon and Pascal Sebah, The Euler constant  $\gamma$ , at <http://numbers.computation.free.fr/Constants/constants.html>.
- [Jam1] G. J. O. Jameson, Sine, cosine and exponential integrals, *Math. Gazette* **99** (2015), 276–289.
- [Jam2] G. J. O. Jameson, Using double integrals to solve single integrals, *Math. Gazette* **100** (2016), 257–265.
- [Jam3] G. J. O. Jameson, The incomplete gamma functions, *Math. Gazette* **100** (2016), 298–306.
- [Lag] Jeffrey C. Lagarias, Euler’s constant: Euler’s work and modern developments, *Bull. American Math. Soc.* **50** (2013), 527–628.
- [Lo] Nick Lord, Intriguing integrals: an Euler-inspired odyssey, *Math. Gazette* **91** (2007) 415–427.
- [Sco] J. A. Scott, Evaluating the Euler constant, *Math. Gazette* **94** (2010), 304–306.
- [WW] E. T. Whittaker and J. M. Watson, *A Course of Modern Analysis*, 4th ed., Cambridge Univ. Press (2004).

*updated 8 November 2017*